

Pay Estimate Created Date: September 15, 2021

Progress Estima Numb		D 210122-H0	8			Pay Period Start	July 15, 2021	Original Contract Amount	\$338,890.70		
4	Prime Contractor		nstruction, Inc. dba ing, Inc.	Venture C	Construction	Pay Period End	September 15, 2021	Net Change Order Amount	(\$9,708.48)		
								Current Contract Amount	\$329,182.22		
Approval Date									By User		
September 15, 2021			Generated and	Approved	(and should be	considered Dr	aft) at the Projec	t Office Level by	bollis1		
September 15, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by bollis1										
September 17, 2021				and Approved	at the Central	Office Controller	s Office Level by	ramses1			
Original Complet	ion Date	Current Co	mpletion Date Actual Completion Dat			Date	% of Curren	t Contract Amount C	omplete		
November 1, 2	2021	Novemb	er 1, 2021					100.00%			
	Contract Inf	ormational Da	tes		Mile	estones					
Date Description	Original Co	mpletion Date	Current Complet	ion Date	No Milestones Exist for Contract						
Acceptance Date											
Awarded Date	February 3, 2	2021	February 3, 2021								
Letting Date	January 22,	2021	January 22, 2021								
Notice to Proceed Da	te March 8, 202	21	March 8, 2021								
Work Began Date											

Contract Total Pay	For Estimate No	. 4					
			This Estimate		Previous	To D	Date
210122-H08 Contract Total Paya ems Paid This Esti	able This Estimat	djustments Image ct Adjustments	(\$585.20) \$3,381.18 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,795.98		\$329,767.42 (\$2,798.18) \$0.00 \$0.00 \$0.00 \$0.00 \$326,969.24	\$58: \$0.0 \$0.0 \$0.0 \$0.0	0 0 0
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3732	0030	6161005	CONSTRUCTION SIGNS	SQFT	\$7.700	-76	(\$585.20
Project J9S3732 -	Total						(\$585.20
Overall - Total							(\$585.20
ontract Adjustmen	ts This Estimate						

No Contract Adjustments Exist on Contract

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
J9S3732	0070	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is applied (if non-zero).	882	\$0.55	\$485.10
	0070	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Retroreflectivity Adjustment	Was with holding 20% of the total of 8500.05 until it passed retroreflectivity. It passed and now paying 1700.05.			\$1,700.05
	0080	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is applied (if non-zero).	178	\$0.55	\$97.90



Pay Estimate Created Date: September 15, 2021

Ρrος		stimate Number	Prime			n, Inc. dba Ventu	re Construction	Pay Period Start Pay Period End	July 15, 2021 September 15, 2021	Original C Amount Net Chang Amount Current Co Amount	je Order	\$338,890.70 (\$9,708.48) \$329,182.22
Project Number	Line No.	lte	em Description		Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	
J9S3732	0080	WATER	YELLOW STANE BORNE PAVEN KING PAINT, TY BI	MENT	Other Item Adjustment	Retroreflectivity Adjustment	until it passed	reflectivity. It r	total of 5490.5 low passed so ning \$1098.13			\$1,098.13
Total												\$3,381.18



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9S3732	FAF-60-4(88)	High friction surface treatment	60	MISSISSIPPI	on various curves	from Rte. EE near Charle	ston to end of state maintenance
Totals by J	Job Numbers						
J9S3732	Posted Ite Gross Iter	n Adjustments	s iross Iter	n Pay	This Estimate (\$585.20) \$3,381.18 \$2,795.98	Previous \$329,767.42 (\$2,798.18) \$326,969.24	To Date \$329,182.22 \$583.00 \$329,765.22
		ve I Damages tract Adjustm	onte		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

ote: Posted Q	uantities	and value	es are p	ased on R	eport Generated date and can differ from the posted ame	ount at the	time the E	stimate was	Genera	ted.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-H08	J9S3732	0001	0010	4139905	MISC.HIGH FRICTION SURFACE TREATMENT	19,431.00	-19,431.00	0.00	SQYD	0.00	\$16.00	\$0.00
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,100.00	\$2,200.00
		0001	0030	6161005	CONSTRUCTION SIGNS	309.00	-137.00	172.00	SQFT	172.00	\$7.70	\$1,324.40
		0001	0040	6161009	FLAG ASSEMBLY	4.00	-2.00	2.00	EA	2.00	\$27.50	\$55.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	115.00	-78.00	37.00	EA	37.00	\$16.50	\$610.50
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$8,000.00	\$8,000.00
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	14,573.00	882.00	15,455.00	LF	15,455.00	\$0.55	\$8,500.25
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	9,805.00	178.00	9,983.00	LF	9,983.00	\$0.55	\$5,490.65
		0001	5001	4139905	MISC.MISC. High Friction Surface Treatment (Iron Mountain Trap Rock)	0.00	19,429.40	19,429.40	SQYD	19,429.40	\$15.46	\$300,378.14
		0001	5002	1046002	VALUE ENGINEERING	0.00	2,623.28	2,623.28	EA	2,623.28	\$1.00	\$2,623.28
	Project J	9S3732 - To	otal Value	Posted to D	ate as of Report Generated Date							\$329,182.22
10122-H08 Ove	rall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$329,182.22



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	J9S373	2										
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	6161005	CONSTRUCTION SIGNS	9/10/21	9/15/21	-76.00	SQFT	3	335.721		340.866		They used a total of 172 sq ft of signs. When I did the first estimate I put 76 sq ft and then on the third estimate I should have put 96 sq ft to make it 172 but I put 172 sq ft. So I had 76 sq ft to once hand this will correct that.

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Sep 21, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3732	0070	4 IN. WHITE WATERBORNE	Other Item Adjustment	OVRN	2	Jul 1, 2021	george2	\$485.10	Change order 2 pending for white striping. This \$485.10 is to offset till change order is completed.
		PAVEMENT MARKING		OVRN - Tota	al			\$485.10	
				REFL	2	Jul 1, 2021	george2	(\$1,700.05)	Until 14 day period by spec 620 will withhold 20% until test results shows it passes. Total dollar amount 8500.25. So 8500.25X.2=\$1700.05
					4	Sep 15, 2021	george2	\$1,700.05	Was with holding 20% of the total of 8500.05 until it passed retroreflectivity. It passed and now paying 1700.05.
				REFL - Tota				\$0.00	
			Other Item /	Adjustment -	Total			\$485.10	
			Overrun	Overrun	2	Jul 1, 2021	SYSTEM	(\$485.10)	
					4 Sep 15, SYSTE 2021		SYSTEM	\$485.10	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0070 -	Total						\$485.10	
	0080	4 IN. YELLOW WATERBORNE PAVEMENT	Other Item Adjustment	REFL	2	Jul 1, 2021	george2	(\$1,098.13)	Until 14 day period by spec 620 will withhold 20% until test results shows it passes.
		MARKING							Total dollar amount is 5490.65. So 5490.65X.2=1098.13
					4	4 Sep 15, geo 2021			
							george2	\$1,098.13	Was withholding 20% of the total of 5490.5 until it passed reflectivity. It now passed so now paying the remaining 1098.13
				REFL - Tota			george2	\$1,098.13 \$0.00	
				REFL - Tota			george2 george2		
				REFL - Tota	ıl	2021 Jul 1,	• •	\$0.00	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change
			Other Item A		2	2021 Jul 1,	• •	\$0.00 \$97.90	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change
			Other Item A Overrun	- Total	2	2021 Jul 1,	• •	\$0.00 \$97.90 \$97.90	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change
				- Total Adjustment -	ıl 2 Total	2021 Jul 1, 2021 Jul 1,	george2	\$0.00 \$97.90 \$97.90 \$97.90	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change
				- Total Adjustment -	l 2 Total 2 4	2021 Jul 1, 2021 Jul 1, 2021 Sep 15,	george2 SYSTEM	\$0.00 \$97.90 \$97.90 \$97.90 (\$97.90)	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change order is completed. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is
				- Total Adjustment - Overrun Overrun - T	l 2 Total 2 4	2021 Jul 1, 2021 Jul 1, 2021 Sep 15,	george2 SYSTEM	\$0.00 \$97.90 \$97.90 (\$97.90 (\$97.90) \$97.90	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change order is completed. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is
	0080 -	Total	Overrun	- Total Adjustment - Overrun Overrun - T	l 2 Total 2 4	2021 Jul 1, 2021 Jul 1, 2021 Sep 15,	george2 SYSTEM	\$0.00 \$97.90 \$97.90 \$97.90 (\$97.90) \$97.90 \$97.90	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change order is completed. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is
J9S3732 -		- Total	Overrun	- Total Adjustment - Overrun Overrun - T	l 2 Total 2 4	2021 Jul 1, 2021 Jul 1, 2021 Sep 15,	george2 SYSTEM	\$0.00 \$97.90 \$97.90 (\$97.90 (\$97.90) \$97.90 \$97.90 \$0.00	passed so now paying the remaining \$1098.13 Change order 2 pending for yellow striping. This \$97.90 is to offset till change order is completed. Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',0.55000 - 0.55000, 'is